November 20, 2017

PVC_\< D? Yre
\/\lo.xm L)?

BN Y
'\\'&\\\/

\
\‘\’Q(\O
RO
&
< o
\
.)\Q/ X
N O
\“( (.06®
(e,Q




November 20, 2017

————
A |~Q Varl'aLHe

| Single Varid J
answeel <an ‘oe
d\'é‘:\m}*eck on O\
numbev line

(mw@ \ "1e1h°d 2
infs
o Airect Lind bourgasy PO
P s ey o et oo

Solve the inequality using either method or solve using both methods
if you want the practice).
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Boundary Point Method
Direct (if possible)
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Boundary Point Method
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® pove by +6 & X

is so complex we won't be able to use either method. So we'll have to be
happy with an approximate answer.

Strategy: Break the L and R side into a system and analyze the graph.

b+ & X

1. Graph to find the intersections of the
Left and Right Functions

2. Find the boudary point(s), mark on a
number line.

3. Test a point. Decide which area to
shade.
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Ch. 4 (4.2.2)
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completing the square
to solve the equation
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®© 5-0-3)=3%x © 4dx+y)=-2
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s x = -4 solution to....

Y2 Ix*+ 9% =D
Whoocer oot ?.
Uy

In that case is (-3, 0) a solution ?
to....
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but there o few wmove

an infinite number to
be exact

we'll ghow thewm  oephic w\\7
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/To solve a 2-variable inequality: \

Change to an equation.

Solve for y (if possible)

Graph the boundary function.
Then test a point, above or below,

Then shade the appropriate side. /
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